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1. Among the options listed, which component is not considered part of the IT
infrastructure ecosystem within firms? (A) Internet platforms (B) Operating system
platforms (C) Enterprise software applications (D) Virtual reality systems

2. What category of Database Management Systems (DBMS) technology organizes
data into two-dimensional tables? (A) mobile DBMS (B) relational DBMS ©
hierarchical DBMS (D) object-oriented DBMS

3. The tool employed for analyzing extensive unstructured datasets, such as emails,
memos, and survey responses, to uncover patterns and relationships is (A) OLAP
(Online analytical processing) (B) Classification (C) Clustering (D) Text mining

4. What technology automatically retrieves content from websites and delivers it to
users' computers? (A) FTP (B) RSS (C) HTTP (D) Bluetooth

5. An attack that involves utilizing multiple computers to inundate and overwhelm the
network from various launch points is known as (A) Distributed Denial-of-Service
(DDoS) (B) Denial-of-Service (DoS) (C) SQL injection (D) phishing (E) botnet

6. What planning tool displays each task as a horizontal bar, with its length
proportional to the time required for completion? (A) Gantt chart (B) PERT
(Program Evaluation Review Technique) chart (C) Scoring model (D) Portfolio
analysis

7. In relation to initiatives addressing sustainable development, which statement is
incorrect? (A) Greenwashing (;Z #) is an activity worthy of encouragement. B)
The United Nations introduced 17 Sustainable Development Goals (SDGs) in 2015.
(C) The phased implementation of the Carbon Border Adjustment Mechanism
(CBAM) by the European Union began in October 2023. (D) The United States
introduced the draft of the Clean Competition Act (CCA) in 2022.

8. What system would you employ to oversee relationships with your customers? (A)
CRM (Customer Relationship Management) (B) MIS (Management Information
System) (C) SCM (Supply Chain Management) (D) KMS (Knowledge
Management System)

9. Which of the following statements about 5G is true? (A) 5G will be capable of
transmitting data in the gigabit range. (B) 5G will transmit data in the megabyte
range. (C) 5G is constructed on the foundation of 4G networks. (D) 5G will have
longer transmission delays.

10. What output does the following Python code produce? (A) 9.650 (B) 9.65 (C) 9.66
(D) 9.7
A =965
print ("%.3f" % (A))
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Python 2 &, | #XEX
input(x,y) LA \
bmi=x/(y**2*0.0001) ! ) FEAEHARELNT)

if bmi>=28: Q) HEREZBAEL B

print("BMI%f #EERE" %bmi) 2 kze: +H BMI |

else: BMI= #E(2F) H&FFAR) |

print("BMI%f BSERAERL" %bmi)  #l4o | —M8 52 AF 4A & &R 155
Ao 8] BMI %:52/1.552=216
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